



## Essential ideal transforms

Ismael Akray\*, <sup>1</sup> and Runak H. Mustafa<sup>2</sup>

---

### ABSTRACT

It is our intention in this research to generalize some concepts in local cohomology such as free modules, contravariant functor  $ext$ , covariant functor  $Ext$  and ideal transforms with  $e$ -exact sequences. The  $e$ -exact sequence was introduced by Akray and Zebari [1] in 2020. We prove that essential free module is an essential projective and a submodule  $rM$  of  $M$  is a quotient of an essential free module. Furthermore, we obtain that for a torsion-free modules  $B$ ,  ${}_{e}ex_R^n(P, B) = 0$  whereas  ${}_eExt_R^n(A, E) = 0$  for every  $R$ -module  $A$ . Also for any torsion-free modules we have an  $e$ -exact sequence  $0 \rightarrow \Gamma_a(B) \rightarrow B \rightarrow D_a(B) \rightarrow H_a^1(B) \rightarrow 0$  and an isomorphism between  $B$  and  $rD_a(B)$ . Finally we generalize Mayer-Vietoris with  $e$ -exact sequences in essential local cohomology, we obtain a special  $e$ -exact sequence.

---

---

### ARTICLE HISTORY

Received: 21 September 2025

Revised: 5 November 2025

Accepted: 6 November 2025

Published: 10 December 2025

Communicated by

Ayesha Asloob Qureshi

<https://doi.org/10.65908/gja.2025.24948>

---

---

### KEYWORDS

Contravariant and covariant

essential derived functor;

essential free module;

essential projective module;

essential injective module;

essential ideal transforms.

---

### MSC

13C11;

46M18;

13D45;

13C10.

## 1 Introduction

Throughout this article,  $R$  will denote a Noetherian domain and  $B$  torsion free  $e$ -injective  $R$ -module. The Mayer-Vietoris sequence involves two ideals so throughout this research  $b$  will denote a second ideal. In 1972, R. S. Mishra introduced a generalization for split

---

\*Corresponding author

1. Artificial intelligence and robotics engineering Department, Technical college for computer and informatics engineering, Erbil Polytechnic University, 44001, Erbil Kurdistan Region, Iraq.
2. Mathematics Department, College of Basic Education Salahaddin University, 44001, Erbil Kurdistan Region, Iraq.

akray.ismael@gmail.com and runak.mustafa@su.edu.krd

sequence where a semi-sequence  $M_{i-1} \xrightarrow{f_{i-1}} M_i \xrightarrow{f_i} M_{i+1}$  is called semi-split if  $\text{Ker}(f_i)$  is a direct summand of  $M_i$  [8]. So a semi-split is split if and only if it is exact. In 1999, Davvaz and parnian-Goramaleky introduced a generalization for exact sequences called it a  $U$ -exact sequence [6]. A submodule  $N$  of an  $R$ -module  $M$  is called essential or large in  $M$  if it has non-zero intersection with every non-zero submodule of  $M$  and denoted by  $N \leq_e M$ . Akay and Zebari in 2020 [1] introduced another generalization to exact sequences of modules and instead of the equality of  $\text{Im}(f)$  with  $\text{Ker}(g)$  they took  $\text{Im}(f)$  as a large (essential) submodule of  $\text{Ker}(g)$  in a sequence  $0 \rightarrow A \xrightarrow{f} D \xrightarrow{g} C \rightarrow 0$  and called it essential exact sequence or simply  $e$ -exact sequence. Equivalently, a sequence of  $R$ -modules and  $R$ -morphisms  $\cdots \rightarrow N_{i-1} \xrightarrow{f_{i-1}} N_i \xrightarrow{f_i} N_{i+1} \rightarrow \cdots$  is said to be essential exact ( $e$ -exact) at  $N_i$ , if  $\text{Im}(f_{i-1}) \leq_e \text{Ker}(f_i)$  and to be  $e$ -exact if it is  $e$ -exact at  $N_i$  for all  $i$ . In particular, a sequence of  $R$ -modules and  $R$ -morphisms  $0 \rightarrow L \xrightarrow{f_1} M \xrightarrow{f_2} N \rightarrow 0$  is a short  $e$ -exact sequence if and only if  $\text{Ker}(f_1) = 0$ ,  $\text{Im}(f_1) \leq_e \text{Ker}(f_2)$  and  $\text{Im}(f_2) \leq_e N$ . The authors of [1] studied some basic properties of  $e$ -exact sequences and established their connection with notions in module theory and homological algebra [2]. Also, F. Campanini and A. Facchini have worked on  $e$ -exact sequences and studied the relation of  $e$ -exactness with some related functors like the functor defined on the category of  $R$ -modules to the spectral category of  $R$ -modules and the localization functor with respect to the singular torsion theory [5]. Furthermore, Akay and R. Mustafa in 2023 introduced and proved further properties of  $e$ -exact sequences and we will restrict our discussion to their applications on both injective modules and the torsion functor of local cohomology [3]. “Local cohomology was introduced by Grothendieck in a 1961 Harvard seminar and later published by Hartshorne in 1967. Next, this subject was studied by Hartshorne and numerous authors even in the recent years see [9], [4] and [7].

In this research we generalize some concepts in local cohomology such as contravariant functor  ${}_e\text{ext}$ , covariant functor  ${}_e\text{Ext}$  and ideal transforms with  $e$ -exact sequences.

In section two, we defined essential free modules (briefly  $e$ -free) and we present the basic theory of essential free modules such as let  $P$  be a torsion-free module of  $A_1$ . If a submodule  $rP$  is an  $e$ -projective then every  $e$ -exact sequence  $e$ -split. A submodule  $rM$  of  $M$  is a quotient of an  $e$ -free  $R$ -module. Also we describe the concept  ${}_e\text{ext}_n^R$  and  ${}_e\text{Ext}_n^R$  as well as we characterize the properties of each of them. For example, let  $0 \rightarrow A' \rightarrow A \rightarrow A'' \rightarrow 0$  be an  $e$ -exact sequence of  $R$ -modules, then there is a long  $e$ -exact sequence  $0 \rightarrow \text{Hom}(A'', B) \rightarrow \text{Hom}(A, B) \rightarrow \text{Hom}(A', B) \rightarrow {}_e\text{ext}_R^1(A'', B) \rightarrow {}_e\text{ext}_R^1(A, B) \rightarrow \cdots$  and also we have for any  $R$ -module  $A$  and any  $e$ -injective  $R$ -module  $E$ ,  ${}_e\text{Ext}_R^n(A, E) = 0$ , for all  $n \geq 1$ .

In section three, we construct essential ideal transforms and we find the new  $e$ -exact sequence by generalized the idea of Mayer-vietores sequence. Also we prove that for any torsion-free  $R$ -module  $B$  there exists  $0 \neq r \in R$  such that  $\epsilon^* : B \rightarrow rD_a(B)$  is an isomorphism if and only if  $\Gamma_a(B) = H_a^1(B) = 0$  and also we show that there is an  $e$ -exact sequences  $0 \rightarrow D_{r(a+b)}(B) \rightarrow D_a(B) \oplus D_b(B) \rightarrow D_{a \cap b}(B) \rightarrow rH_a^2 D_{r(a+b)}(B) \rightarrow rH_a^2 D_a(B) \oplus rH_b^2 D_b(B) \rightarrow rH_a^2 D_{a \cap b}(B) \rightarrow \cdots$ .

## 2 contravariant and covariant right essential derived functor

### 2.1 Contravariant essential derived functor

In this subsection we want to describe contravariant right derived functor  $\text{ext}_R^n$  on the  $e$ -projective resolution call it essential derived functor (briefly  $e\text{ext}_n^R$ ) and discuss some properties of them. On the other hand We present some definition that are central for our object such as essential injective, essential projective and essential free modules as the following:

**Definition 2.1.** *An  $R$ -module  $E$  is an  $e$ -injective if it satisfies the following condition: for any monic  $f_1 : A_1 \rightarrow A_2$  and any map  $f_2 : A_1 \rightarrow E$ , there exist  $0 \neq r \in R$  and  $f_3 : A_2 \rightarrow E$  such that  $f_3 \circ f_1 = rf_2$ .*

$$\begin{array}{ccccc}
 & & E & & \\
 & & \uparrow f_2 & \searrow f_3 & \\
 0 & \longrightarrow & A_1 & \xrightarrow{f_1} & A_2
 \end{array}$$

In this case, we say the map  $f_3$  is essentially extends to the map  $f_2$ .

**Definition 2.2.** *An  $R$ -module  $P$  is  $e$ -projective if it satisfies the following condition: for any  $e$ -epic map  $f_1 : A_1 \rightarrow A_2$  and any map  $f_2 : P \rightarrow A_2$ , there exist  $0 \neq r \in R$  and  $f_3 : P \rightarrow A_1$  such that  $f_1 \circ f_3 = rf_2$ .*

$$\begin{array}{ccccc}
 & & P & & \\
 & \swarrow f_3 & \downarrow f_2 & & \\
 A_1 & \xrightarrow{f_1} & A_2 & \longrightarrow & 0
 \end{array}$$

The following example shows that an  $e$ -projective module may not be projective.

**Example 2.3.** *Consider the  $e$ -exact sequence*

$$0 \rightarrow 4\mathbb{Z} \xrightarrow{f_1} \mathbb{Z} \xrightarrow{f_2} \frac{\mathbb{Z}}{4\mathbb{Z}} \rightarrow 0,$$

where  $f_1(x) = 2x$  and  $f_2(x) = 2x + 4\mathbb{Z}$  is an  $e$ -split, because we have a map  $f : \mathbb{Z} \rightarrow 4\mathbb{Z}$ ,  $f(x) = 4x$  such that  $f \circ f_1(x) = f(f_1(x)) = f(2x) = 8x = 8I_{\mathbb{Z}}$ . Thus we get  $\mathbb{Z}/4\mathbb{Z}$  is an  $e$ -projective by [1, Proposition 3.2], while  $\mathbb{Z}/4\mathbb{Z}$  is not projective.

**Definition 2.4.** A submodule  $S$  of  $M$  is an  $e$ -retract of  $M$  if there exist a map  $P : M \rightarrow S$ ;  $P(s) = s$  for all  $s \in S$  called an  $e$ -retraction and  $0 \neq r \in R$  such that  $Pi = rI_S$ , where  $i : S \rightarrow M$  is the inclusion.

**Corollary 2.5.** Let  $S$  be a torsion-free submodule of  $M$ . A submodule  $rS$  is a direct summand of  $rM$  if there exist  $0 \neq r \in R$  and a retraction  $p : M \rightarrow S$

*Proof.* Let  $i : S \rightarrow M$  be the inclusion we show that  $rM = rS \oplus T$ , where  $T = rKerP$ . If  $rm \in rM$  then  $rm = (rm - rpm) + rpm$ . Obviously,  $r(p(m - pm)) = p(rm - rpm) = rpm - rpm = 0$ , because  $pm \in S$  and so  $rpm = pm$ , on the other hand  $rpm \in rImp = rS$ . Therefore,  $rM = rS + T$ . If  $rm \in rS$ , then  $rpm = rm$ ; if  $rm \in T = rKerP$ , then  $pm = 0$ . Hence, if  $rm \in rS \cap T$ , then  $m = 0$ . Therefore,  $rS \cap T = 0$  and  $rM = rS \oplus T$ .  $\square$

**Proposition 2.6.** Let  $P$  be a torsion-free submodule of  $A_1$ . If a submodule  $rP$  is  $e$ -projective, then every  $e$ -exact sequence ending with  $rP$   $e$ -splits.

*Proof.* If  $rP$  is an  $e$ -projective then there exist  $j : rP \rightarrow A_1$  and  $0 \neq r \in R$  such that  $pj = rI_{rP}$ . As the following diagram:

$$\begin{array}{ccccc}
 & & rP & & \\
 & \swarrow j & \downarrow I_{rP} & & \\
 A_1 & \xrightarrow{p} & rP & \longrightarrow & 0
 \end{array}$$

By Corollary 2.5 the submodule  $rP$  is a direct summand of  $rA_1$ , then the proof is complete by using [3, Proposition 2.5]  $\square$

**Definition 2.7.** Let  $M$  and  ${}_eF$  be any  $R$ -module,  $0 \neq r \in R$  and  $X$  be a basis of  ${}_eF$ . We call  ${}_eF$  is an  $e$ -free if for any map  $f : rX \rightarrow M$  and inclusion map  $i : rX \rightarrow {}_eF$  there exists a unique map  $g : {}_eF \rightarrow M$  such that  $g \circ i = rf$ . In this case, we say  $g$  essentially extend to  $f$ .

$$\begin{array}{ccc}
 {}_eF & & \\
 \downarrow i & \searrow g & \\
 rX & \xrightarrow{f} & M
 \end{array}$$

**Proposition 2.8.** Let  $M$  be any  $R$ -module and  $X$  be a basis of a free module  ${}_eF$ . Then  ${}_eF$  is an  $e$ -free-module.

*Proof.* By [9, Proposition 2.34], for any map  $f : X \rightarrow M$  and inclusion map  $i : X \rightarrow {}_eF$  there exists a unique map  $g : {}_eF \rightarrow M$  such that  $g \circ i = rf$  since  ${}_eF$  is a free module. Therefore, there is an inclusion map  $h : rX \rightarrow {}_eF$  which is a composite of  $i \circ p$  where

$p : rX \rightarrow X$  be an inclusion map. Thus  $g \circ h(rx) = g(h(rx)) = g(i \circ p(rx)) = gi(p(rx)) = gi(rx) = rgi(x) = rf(x) = f(rx) = f(p(rx)) = f \circ p(rx)$ .  $\square$

In the above Proposition we showed that every free module is an  $e$ -free module, but the converse is not true in general because,  $rX$  may not be a basis.

**Theorem 2.9.** *A submodule  $rM$  of  $M$  is a quotient of an  $e$ -free  $R$ -module.*

*Proof.* Let  $M$  be generated by the set  $X$  and  ${}_eF$  be an  $e$ -free module with basis  $u_x : x \in X$ , then by definition there exist  $0 \neq r \in R$  and a map  $g : {}_eF \rightarrow M$  with  $g(ru_x) = rx$  for all  $x \in X$ , so  $Img = rM$  is a submodule of  $M$  containing  $rX$ , implies  $rM \cong \frac{{}_eF}{Ker g}$  showing as the following diagram:

$$\begin{array}{ccc} {}_eF & & \\ \uparrow i & \searrow g & \\ ru_x & \xrightarrow{f} & M \end{array}$$

$\square$

**Theorem 2.10.** *Let  ${}_eF$  be an  $e$ -free  $R$ -module. If  $p : A \rightarrow A''$  is surjective, then for every  $h : {}_eF \rightarrow A''$ , there exist  $0 \neq r \in R$  and  $g : {}_eF \rightarrow A$  such that  $p \circ g = rh$ .*

*Proof.* Let  $X$  be a basis of  ${}_eF$ . For each  $x \in X$ ,  $h(rx) \in A''$  has the form  $h(rx) = p(ra_x)$  for some  $a_x \in A$  because  $p$  is surjective by the axiom of choice there is a function  $u : rX \rightarrow A$  with  $u(rx) = ra_x$  for all  $x \in X$  so by definition there exist a map  $g : {}_eF \rightarrow A$  with  $g(rx) = ra_x$  for all  $x \in X$ . Now,  $p \circ g(rx) = p(g(rx)) = p(ra_x) = h(rx)$ .  $\square$

**Theorem 2.11.** *Let  $P$  torsion-free  $R$ -module. If a submodule  $rP$  is an  $e$ -projective then  $rP$  is a direct summand of a submodule of an  $e$ -free  $R$ -module for  $0 \neq r \in R$ .*

*Proof.* Assume that  $rP$  is an  $e$ -projective. By Theorem 2.9  $rP$  is a quotient of an  $e$ -free module  ${}_eF$ . Thus there is an  $e$ -exact sequence  $0 \rightarrow Ker g \rightarrow {}_eF \xrightarrow{g} rP \rightarrow 0$  which is an  $e$ -split by Proposition 2.6. Therefore  $r{}_eF \cong Ker g \oplus rP$  by [3, Proposition 2.5].  $\square$

**Definition 2.12.** *An  $e$ -projective resolution of an  $R$ -module  $A$  is an  $e$ -exact sequence  $\cdots \rightarrow P_{n+1} \rightarrow P_n \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow A \rightarrow 0$  where each  $P_n$  is an  $e$ -projective  $R$ -module.*

**Definition 2.13.** *If  $T$  is a contravariant functor, then*

$$(R^n T)A = H^n(TP_A) = \frac{Ker Td_{n+1}}{Im Td_n},$$

where  $\cdots \rightarrow P_{n+1} \rightarrow P_n \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow A \rightarrow 0$  is the  $e$ -projective resolution of an  $R$ -module  $A$ . In particular, we put  $T = Hom(\ , B)$ , define  ${}_eext_R^n(\ , B) = R^n T$ . Then  ${}_eext_R^n(A, B) = H^n(Hom_R(P_A, B))$ , which means  ${}_eext_R^n = \frac{Ker d^{n*}}{Im d^{(n-1)*}}$ , where  $d^{n*} : Hom(P_{n-1}, B) \rightarrow Hom(P_n, B)$  is defined as usual by  $d^{n*} : f \mapsto fd^n$ .

**Theorem 2.14.** *Let  $A$  be any  $R$ -modules. Then  ${}_e\text{ext}_R^n(A, B) = 0$  for all negative integer  $n$ .*

*Proof.* Suppose that  $\cdots \rightarrow P_{n+1} \rightarrow P_n \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow A \rightarrow 0 : P$  be an  $e$ -projective resolution for  $A$ . Then the deleted complex of  $A$  is  $\cdots \rightarrow P_{n+1} \rightarrow P_n \rightarrow \cdots \rightarrow P_1 \rightarrow P_0 \rightarrow 0 : P_A$ , after applying  $\text{Hom}(\ , B)$  on the deleted complex, we get  $0 \rightarrow \text{Hom}(P_0, B) \rightarrow \text{Hom}(P_1, B) \rightarrow \text{Hom}(P_2, B) \rightarrow \cdots$  by [1, Theorem 2.7], which implies that  $\text{Hom}(P_n, B) = 0$  for all negative integer number  $n$ . Hence  ${}_e\text{ext}_R^n = 0$  for all negative integer number  $n$ .  $\square$

**Theorem 2.15.** *Let  $A$  be any  $R$ -modules and  $n = 0$ . Then  ${}_e\text{ext}_R^n(A, B) \cong \text{Hom}(A, B)$*

*Proof.* Let  $\cdots \rightarrow P_{n+1} \rightarrow P_n \rightarrow \cdots \rightarrow P_1 \xrightarrow{d_1} P_0 \xrightarrow{\epsilon} A \rightarrow 0$  be an  $e$ -projective resolution for  $A$ . By definition

$${}_e\text{ext}_R^0(A, B) = H^0(\text{Hom}(P_A, B)) = \frac{\text{Kerd}_1^*}{\text{Im}d_\epsilon^*} = \text{Kerd}_1^*.$$

But left  $e$ -exactness of  $\text{Hom}(\ , B)$  gives an  $e$ -exact sequence

$$0 \rightarrow \text{Hom}(A, B) \xrightarrow{\epsilon^*} \text{Hom}(P_0, B) \xrightarrow{d_1^*} \text{Hom}(P_1, B) \xrightarrow{d_2^*} \text{Hom}(P_2, B) \rightarrow \cdots$$

by [3, Proposition 2.7]. We define  $\epsilon^* : \text{Hom}(A, B) \rightarrow \text{Kerd}_1^*$ , since  $\text{Im}\epsilon^* \leqslant_e \text{Kerd}_1^*$ ,  $\epsilon^*$  is well-defined and since  $\text{Hom}(\ , B)$  is left  $e$ -exact functor then  $\epsilon^*$  is monic. Now, we want to prove that  $\epsilon^*$  is an epic. Let  $f \in \text{Kerd}_1^*$  where  $f : P_0 \rightarrow B$  and  $g \in \text{Hom}(A, B)$ , then  $d_1^*(f(p_0)) = f(d_1(p_1))$  by  $e$ -exactness there exist  $0 \neq r \in R$  and  $p_0 \in \text{ker}\epsilon$  such that  $d_1(p_1) = rp_0$  so  $rf(p_0) = rg(p_0) = r\epsilon^*(g(a))$  implies  $f(p_0) = \epsilon^*(g(a))$ . Hence  $\epsilon^*$  is an isomorphism because,  ${}_e\text{ext}_R^n(A, B) = \text{Kerd}_1^*$  and  ${}_e\text{ext}_R^n(A, B)$  is isomorphic to  $\text{Hom}(A, B)$ .  $\square$

**Theorem 2.16.** *Let  $P$  be an  $e$ -projective, then  ${}_e\text{ext}_R^n(P, B) = 0$ , for all  $n \geq 1$*

*Proof.* Since  $P$  is an  $e$ -projective, the  $e$ -projective resolution is  $0 \rightarrow P \xrightarrow{1_P} P \rightarrow 0$  which is  $1_P$ . The corresponding deleted  $e$ -projective resolution  $P_P$  is  $0 \rightarrow P \rightarrow 0$ . By applying  $\text{Hom}(\ , B)$  to the deleted complex we obtain  ${}_e\text{ext}_R^n(P, B) = 0$  for all  $n \geq 1$ .  $\square$

**Corollary 2.17.** *Let  $0 \rightarrow A' \rightarrow A \rightarrow A'' \rightarrow 0$  be an  $e$ -exact sequence of  $R$ -modules, then there is a long  $e$ -exact sequence  $0 \rightarrow \text{Hom}(A'', B) \rightarrow \text{Hom}(A, B) \rightarrow \text{Hom}(A', B) \rightarrow {}_e\text{ext}_R^1(A'', B) \rightarrow {}_e\text{ext}_R^1(A, B) \rightarrow \cdots$ .*

*Proof.* By [2, Theorem 3.7], we have an  $e$ -exact sequence of deleted complexes  $0 \rightarrow P''_{A'} \rightarrow P_A \rightarrow P'_{A''} \rightarrow 0$ . If  $T = \text{Hom}(\ , B)$ , then  $0 \rightarrow TP'_{A''} \rightarrow TP_A \rightarrow TP''_{A'} \rightarrow 0$  is still  $e$ -exact by [3, Proposition 2.7]. Then by [2, Theorem 3.2] we have an  $e$ -exact sequence  $0 \rightarrow H^0(\text{Hom}(P'_{A''}, B)) \rightarrow H^0(\text{Hom}(P_A, B)) \rightarrow H^0(\text{Hom}(P''_{A'}, B)) \rightarrow H^1(\text{Hom}(P'_{A''}, B)) \rightarrow H^1(\text{Hom}(P_A, B)) \rightarrow \cdots$ . By using the definition of  ${}_e\text{ext}_R^n$ , Theorem 2.15 and Theorem 2.14 we obtain an  $e$ -exact sequence  $0 \rightarrow \text{Hom}(A'', B) \rightarrow \text{Hom}(A, B) \rightarrow \text{Hom}(A', B) \rightarrow {}_e\text{ext}_R^1(A'', B) \rightarrow {}_e\text{ext}_R^1(A, B) \rightarrow \cdots$ .  $\square$

**Theorem 2.18.** *Given a commutative diagram of  $R$ -modules having  $e$ -exact rows as the following:*

$$\begin{array}{ccccccc} 0 & \longrightarrow & A' & \xrightarrow{i} & A & \xrightarrow{p} & A'' \longrightarrow 0 \\ & & \downarrow f & & \downarrow g & & \downarrow h \\ 0 & \longrightarrow & C' & \xrightarrow{j} & C & \xrightarrow{q} & C'' \longrightarrow 0, \end{array}$$

*then there is a commutative diagram of  $R$ -modules with  $e$ -exact rows:*

$$\begin{array}{ccccccc} _eext_R^n(A'', B) & \xrightarrow{p^*} & _eext_R^n(A, B) & \xrightarrow{i^*} & _eext_R^n(A', B) & \xrightarrow{\sigma^n} & _eext_R^{n+1}(A'', B) \\ h^* \uparrow & & g^* \uparrow & & f^* \uparrow & & h^* \uparrow \\ _eext_R^n(C'', B) & \xrightarrow{q^*} & _eext_R^n(C, B) & \xrightarrow{j^*} & _eext_R^n(C', B) & \xrightarrow{\sigma'^n} & _eext_R^{n+1}(C'', B) \end{array}$$

*Proof.* By [2, Theorem 3.7], we have an  $e$ -exact sequence of deleted complexes  $0 \rightarrow P_{A'}'' \rightarrow P_A \rightarrow P_{A''}' \rightarrow 0$ . If  $T = \text{Hom}(\ , B)$ , then  $0 \rightarrow TP_{A''}' \rightarrow TP_A \rightarrow TP_{A'}'' \rightarrow 0$  is still  $e$ -exact by [3, Proposition 2.7]. By [2, Remark 3.3] there is a commutative diagram of  $R$ -modules and  $R$ -morphisms as the following

$$\begin{array}{ccccccc} \cdots \rightarrow H^{n-1}(\text{Hom}(P_{A''}'', B)) & \xrightarrow{i^*} & H^{n-1}(\text{Hom}(P_A'', B)) & \xrightarrow{\sigma} & H^n(\text{Hom}(P_{A'}'', B)) & \longrightarrow \cdots \\ g^* \uparrow & & h_* \uparrow & & f_* \uparrow & \\ \cdots \rightarrow H^{n-1}(\text{Hom}(P_{C''}'', B)) & \xrightarrow{j^*} & H^{n-1}(\text{Hom}(P_C'', B)) & \xrightarrow{\sigma'^*} & H^n(\text{Hom}(P_{C'}'', B)) & \longrightarrow \cdots \end{array}$$

and our proof will be complete by using the definition of  $_eext_R^n(A, B) = H^n(\text{Hom}(P_A, B))$ .  $\square$

## 2.2 Covariant essential derived functor ${}_eExt$

In this subsection we want to describe covariant right derived functor  $Ext_R^n$  on the  $e$ -injective resolution call it covariant essential derived functor (briefly  ${}_eExt_n^R$ ) and discuss some properties of them and we prove some theorem under acceptable condition. In homology  $ext_n^R$  and  $Ext_n^R$  are equivalent but this is not the case for  $_eext_n^R$  and  ${}_eExt_n^R$ . We begin with the following definition.

**Definition 2.19.** *An  $e$ -injective resolution of an  $R$ -module  $A$  is an  $e$ -exact sequence  $0 \rightarrow A \xrightarrow{\eta} E^0 \xrightarrow{d^0} E^1 \xrightarrow{d^1} \cdots \rightarrow E^n \xrightarrow{d^n} E^{n+1} \rightarrow \cdots$ , where each  $E^i$  is an  $e$ -injective  $R$ -module. An  $e$ -injective resolution may not be injective see [3, Example 2.3].*

**Definition 2.20.** *If  $T$  is a covariant functor, then*

$$(R^n T)A = H^n(T E^M) = \frac{\text{Ker} T d^n}{\text{Im} T d^{n-1}},$$

where  $E : 0 \rightarrow M \rightarrow E^0 \xrightarrow{d^0} E^1 \xrightarrow{d^1} \cdots$  is the  $e$ -injective resolution of an  $R$ -module  $M$ . In particular, we put  $T = \text{Hom}(A, \ )$ , for any  $R$ -module  $A$  we define  ${}_eExt_R^n(A, \ ) = R^n T$ . Then  ${}_eExt_R^n(A, M) = H^n(\text{Hom}_R(A, E^M))$ , which means that  ${}_eExt_R^n = \frac{\text{Ker} d_*^n}{\text{Im} d_*^{n-1}}$ , where  $d_*^n : \text{Hom}(A, E^n) \rightarrow \text{Hom}(A, E^{n+1})$  is defined as usual by  $d_*^n : f \mapsto d^n f$ .

**Theorem 2.21.** *Let  $E$  be an  $e$ -injective  $R$ -module. Then for any  $R$ -module  $A$   ${}_e\text{Ext}_R^n(A, E) = 0$ , for all  $n \geq 1$ .*

*Proof.* Since  $E$  is an  $e$ -injective module, the  $e$ -injective resolution of  $E$  is  $0 \rightarrow E \xrightarrow{1_E} E \rightarrow 0$ . The corresponding deleted  $e$ -injective resolution  $E^E$  is  $0 \rightarrow E \rightarrow 0$ . By applying  $\text{Hom}(\cdot, E)$  to the deleted complex we obtain  ${}_e\text{Ext}_R^n(A, E) = 0$  for all  $n \geq 1$ .  $\square$

**Corollary 2.22.** *Let  $0 \rightarrow A'' \rightarrow A \rightarrow A' \rightarrow 0$  be a short  $e$ -exact sequence of  $R$ -modules and  $P$  be a projective module, then there is a long  $e$ -exact sequence  $0 \rightarrow \text{Hom}(P, A'') \rightarrow \text{Hom}(P, A) \rightarrow \text{Hom}(P, A') \rightarrow {}_e\text{Ext}_R^1(P, A'') \rightarrow {}_e\text{Ext}_R^1(P, A) \rightarrow \dots$ .*

*Proof.* By [3, Proposition 2.10], we have an  $e$ -exact sequence of deleted complexes  $0 \rightarrow E''A'' \rightarrow E^A \rightarrow E'A' \rightarrow 0$ . If  $T = \text{Hom}(P, \cdot)$ , then  $0 \rightarrow TE''A'' \rightarrow TE^A \rightarrow TE'A' \rightarrow 0$  is still  $e$ -exact by [1, Theorem 3.1]. Then by [2, Theorem 3.2] we have an  $e$ -exact sequence  $0 \rightarrow H^0(\text{Hom}(P, E''A'')) \rightarrow H^0(\text{Hom}(P, E^A)) \rightarrow H^0(\text{Hom}(P, E'A')) \rightarrow H^1(\text{Hom}(P, E''A'')) \rightarrow H^1(\text{Hom}(P, E^A)) \rightarrow \dots$ . By using the definition of  ${}_e\text{Ext}$  and [2, Theorem 5.3] we obtain an  $e$ -exact sequence  $0 \rightarrow \text{Hom}(P, A'') \rightarrow \text{Hom}(P, A) \rightarrow \text{Hom}(P, A') \rightarrow {}_e\text{Ext}_R^1(P, A'') \rightarrow {}_e\text{Ext}_R^1(P, A) \rightarrow \dots$ .  $\square$

**Theorem 2.23.** *Given a commutative diagram of  $R$ -modules having  $e$ -exact rows as the following:*

$$\begin{array}{ccccccc} 0 & \longrightarrow & A'' & \xrightarrow{i} & A & \xrightarrow{p} & A' \longrightarrow 0 \\ & & \downarrow f & & \downarrow g & & \downarrow h \\ 0 & \longrightarrow & C'' & \xrightarrow{j} & C & \xrightarrow{q} & C' \longrightarrow 0, \end{array}$$

*then there is a commutative diagram of  $R$ -modules with  $e$ -exact rows:*

$$\begin{array}{ccccccc} {}_e\text{Ext}_R^n(P, A'') & \xrightarrow{i^*} & {}_e\text{Ext}_R^n(P, A) & \xrightarrow{p^*} & {}_e\text{Ext}_R^n(P, A') & \xrightarrow{\sigma^n} & {}_e\text{Ext}_R^{n+1}(P, A'') \\ \downarrow f^* & & \downarrow g^* & & \downarrow h^* & & \downarrow f^* \\ {}_e\text{Ext}_R^n(P, C'') & \xrightarrow{j^*} & {}_e\text{Ext}_R^n(P, C) & \xrightarrow{q^*} & {}_e\text{Ext}_R^n(P, C') & \xrightarrow{\sigma'^n} & {}_e\text{Ext}_R^{n+1}(P, C'') \end{array}$$

*Proof.* By [3, Proposition 2.10], we have an  $e$ -exact sequence of deleted complexes  $0 \rightarrow E''A'' \rightarrow E^A \rightarrow E'A' \rightarrow 0$ . If  $T = \text{Hom}(P, \cdot)$ , then  $0 \rightarrow TE''A'' \rightarrow TE^A \rightarrow TE'A' \rightarrow 0$  is still  $e$ -exact by [1, Theorem 3.1]. By [2, Remark 3.3] there is a commutative diagram of  $R$ -modules and  $R$ -morphisms as the following

$$\begin{array}{ccccccc} \dots & \rightarrow & H^{n-1}(\text{Hom}(P, E''A)) & \xrightarrow{p^*} & H^{n-1}(\text{Hom}(P, E'A')) & \xrightarrow{\sigma} & H^n(\text{Hom}(P, E''A'')) \longrightarrow \dots \\ & & \downarrow g^* & & \downarrow h_* & & \downarrow f_* \\ \dots & \rightarrow & H^{n-1}(\text{Hom}(P, E''C)) & \xrightarrow{q^*} & H^{n-1}(\text{Hom}(P, E'C')) & \xrightarrow{\sigma'^*} & H^n(\text{Hom}(P, E''C'')) \longrightarrow \dots \end{array}$$

and our proof will be complete by using the definition of  ${}_e\text{Ext}_R^n(P, A) = H^n(\text{Hom}(P, E^A))$ .  $\square$

### 3 ideal transforms with respect to essential exact sequence

Throughout this section,  $R$  is assumed to be a principal ideal domain. All our work in this section applies to two particular systems of ideals; the system of ideals  $\beta = (a^n)_{n \in \mathbb{N}}$  and the system of ideals  $\beta = (a^n + b^n)_{n \in \mathbb{N}}$  by [4, Example 3.12]. Then the ideal transforms with respect to an ideal  $a$  is defined as  $D_a = \lim_{n \in \mathbb{N}} \text{Hom}(a^n, B)$ . It is covariant  $R$ -linear functor as well as it is left  $e$ -exact sequence because  $\text{Hom}(a^n, B)$  is a left  $e$ -exact sequence and direct limit preserves  $e$ -exactness. If a system of ideal  $(a^n)_{n \in \mathbb{N}}$  is an inverse family of ideals, then there is a natural equivalence  $\varinjlim_{n \in \mathbb{N}} \text{Hom}(\frac{R}{a^n}, B) \cong \Gamma_a(B)$  as well as we have an natural equivalent between  $\varinjlim_{n \in \mathbb{N}} {}_e\text{ext}_R^i(\frac{R}{a^n}, B) \cong {}_eH_a^i(B)$ .

**Theorem 3.1.** *For any torsion-free  $R$ -module  $B$ . The sequence  $0 \rightarrow \Gamma_a(B) \rightarrow B \rightarrow D_a(B) \rightarrow H_a^1(B) \rightarrow 0$  is an  $e$ -exact.*

*Proof.* The sequence  $0 \rightarrow a^n \rightarrow R \rightarrow \frac{rR}{a^n} \rightarrow 0$ , where  $0 \neq r \in R$  is an  $e$ -exact sequence. By Corollary 2.17 induces a long  $e$ -exact sequences of  ${}_e\text{ext}_R^n(, B)$  modules since  $R$  is an  $e$ -projective  $R$ -modules and  $\text{Hom}(R, B)$  is naturally isomorphic to  $B$ , then

$$0 \rightarrow \text{Hom}(\frac{rR}{a^n}, B) \rightarrow B \rightarrow \text{Hom}(a^n, B) \rightarrow {}_e\text{ext}_R^1(\frac{rR}{a^n}, B) \rightarrow 0.$$

Now passing to direct limits, we get the following

$$0 \rightarrow \varinjlim_{n \in \mathbb{N}} \text{Hom}(\frac{rR}{a^n}, B) \rightarrow B \rightarrow \varinjlim_{n \in \mathbb{N}} \text{Hom}(a^n, B) \rightarrow \varinjlim_{n \in \mathbb{N}} {}_e\text{ext}_R^1(\frac{rR}{a^n}, B) \rightarrow 0.$$

Then by using a natural equivalent induces the sequences  $e$ -exact sequence  $0 \rightarrow \Gamma_a(B) \rightarrow B \rightarrow D_a(B) \rightarrow H_a^1(B) \rightarrow 0$  is an  $e$ -exact.  $\square$

**Theorem 3.2.** *Let  $a^n$  be a torsion-free modules. Then  $\text{Hom}(a^n, B)$  is an  $e$ -injective.*

*Proof.* To prove that  $\text{Hom}(a^n, B)$  is an  $e$ -injective, we show that  $\text{Hom}(-, \text{Hom}(a^n, B))$  is an  $e$ -exact functor. By the adjoint isomorphism theorem, this functor is naturally isomorphic to  $\text{Hom}(a^n \otimes -, B)$  which is the composite  $\text{Hom}(-, B) \circ (a^n \otimes -)$ . By [3, Proposition 2.10]  $\text{Hom}(-, B)$  is an  $e$ -exact functor and by [1, Theorem 2.10]  $a^n \otimes -$  is also  $e$ -exact, so their composite is again  $e$ -exact.  $\square$

**Theorem 3.3.** *For any torsion-free  $R$ -module  $B$ . There exists  $0 \neq r \in R$  such that  $\epsilon^* : B \rightarrow rD_a(B)$  is an isomorphism if and only if  $\Gamma_a(B) = H_a^1(B) = 0$ .*

*Proof.* If  $\epsilon^*$  is an isomorphism then by  $e$ -exactness and definition of essential we get the result. Conversely, suppose that  $\Gamma_a(B) = H_a^1(B) = 0$  then by  $e$ -exactness and definition of essential we obtain  $\text{Ker} \epsilon^* = 0$  implies  $\epsilon^*$  is an monic. It is remain to shows that  $\epsilon^*$  is an epic. By Theorem 3.2  $D_a(B)$  is an  $e$ -injective and by [3, Proposition 2.8] there

exists a homomorphism  $g : \text{Im}\epsilon^* \rightarrow D_a(B)$  such that  $f_3 \circ g = rI_{D_a(B)}$  which means that  $rD_a(B) = \text{Im}\epsilon^*$ . Therefore,  $\epsilon^*$  is an isomorphism.

$$\begin{array}{ccccc}
 & & D_a(B) & & \\
 & \epsilon^* \uparrow & \swarrow f_3 & & \\
 0 & \longrightarrow & B & \xrightarrow{f_1} & \text{Im}\epsilon^*
 \end{array}$$

□

**Theorem 3.4.** Let  ${}_e\text{ext}_R^n(a^n, B)$  be an  $e$ -injective torsion-free modules. There exists  $0 \neq r \in R$  such that  $\eta : {}_e\text{ext}_R^n(a^n, B) \rightarrow r{}_e\text{ext}_R^{n+1}(\frac{rR}{a^n}, B)$  is an isomorphism.

*Proof.* By Corollary 2.17 induces a long  $e$ -exact sequences of  ${}_e\text{ext}_R^n$  and by  $e$ -exactness and definition of essential we obtain  $\text{Ker}\eta = 0$  implies  $\eta$  is an monic. It is remain to shows that  $\eta$  is an epic. By [3, Proposition 2.8] there exists a homomorphism  $g : \text{Im}\eta \rightarrow {}_e\text{ext}_R^{n+1}(\frac{rR}{a^n}, B)$  such that  $f_3 \circ g = rI_{{}_e\text{ext}_R^{n+1}(\frac{rR}{a^n}, B)}$  which means that  $r{}_e\text{ext}_R^{n+1}(\frac{rR}{a^n}, B) = \text{Im}\eta$ . Therefore,  $\eta$  is an isomorphism.

$$\begin{array}{ccccc}
 & & {}_e\text{ext}_R^{n+1}(\frac{rR}{a^n}, B) & & \\
 & \eta \uparrow & \swarrow f_3 & & \\
 0 & \longrightarrow & {}_e\text{ext}_R^n(a^n, B) & \xrightarrow{f_1} & \text{Im}\eta
 \end{array}$$

□

**Theorem 3.5.** For any torsion-free  $R$ -module  $B$ , there is an  $e$ -exact sequences

$$\begin{aligned}
 0 \rightarrow D_{r(a+b)}(B) &\rightarrow D_a(B) \bigoplus D_b(B) \rightarrow D_{a \cap b}(B) \rightarrow rH_a^2 D_{r(a+b)}(B) \\
 &\rightarrow rH_a^2 D_a(B) \bigoplus rH_a^2 D_b(B) \rightarrow rH_a^2 D_{a \cap b}(B) \rightarrow \dots
 \end{aligned}$$

*Proof.* we have an  $e$ -exact sequences  $0 \rightarrow a \cap b \rightarrow a \bigoplus b \rightarrow \frac{r(a \bigoplus b)}{a \cap b} \rightarrow 0$ , where  $0 \neq r \in R$ . By Corollary 2.17 induces a long  $e$ -exact sequences

$$\begin{aligned}
 0 \rightarrow & \text{Hom}(r(a+b), B) \rightarrow \text{Hom}(a, B) \bigoplus \text{Hom}(b, B) \rightarrow \text{Hom}(a \cap b, B) \\
 \rightarrow & {}_e\text{ext}_R^1(r(a+b), B) \rightarrow {}_e\text{ext}_R^1(a, B) \bigoplus {}_e\text{ext}_R^1(b, B) \rightarrow {}_e\text{ext}_R^1(a \cap b, B) \\
 \rightarrow & \dots
 \end{aligned}$$

Now, passing to direct limits, we obtain the following

$$\begin{aligned}
 0 \rightarrow \varinjlim_{n \in \mathbb{N}} \text{Hom}(r(a+b), B) &\rightarrow \varinjlim_{n \in \mathbb{N}} \text{Hom}(a, B) \bigoplus \varinjlim_{n \in \mathbb{N}} \text{Hom}(b, B) \\
 &\rightarrow \varinjlim_{n \in \mathbb{N}} \text{Hom}(a \cap b, B) \rightarrow \varinjlim_{n \in \mathbb{N}} {}_e\text{ext}^1(r(a+b), B) \rightarrow \varinjlim_{n \in \mathbb{N}} {}_e\text{ext}_R^1(a, B) \\
 &\bigoplus \varinjlim_{n \in \mathbb{N}} {}_e\text{ext}_R^1(a, B) \rightarrow \varinjlim_{n \in \mathbb{N}} {}_e\text{ext}_R^1(a \cap b, B) \rightarrow \cdots,
 \end{aligned}$$

then by using a natural equivalent and Theorem 3.4 induces an  $e$ -exact sequences

$$\begin{aligned}
 0 \rightarrow D_{r(a+b)}(B) &\rightarrow D_a(B) \bigoplus D_b(B) \rightarrow D_{a \cap b}(B) \rightarrow r_e H_a^2 D_{r(a+b)}(B) \\
 &\rightarrow r_e H_a^2 D_a(B) \bigoplus r_e H_a^2 D_b(B) \rightarrow r_e H_a^2 D_{a \cap b}(B) \rightarrow \cdots.
 \end{aligned}$$

□

## References

- [1] I. Akray and A. Zebari, *Essential exact sequence*, Commun. Korean Math. Soc. **35** (2020), no. 2, 469–480.
- [2] I. Akray and A. Zebari, *The homology regarding to  $e$ -exact sequences*, Commun. Korean Math. Soc. **38** (2023).
- [3] I. Akray and R. H. Mustafa, *Essential cohomology modules*, 2023.
- [4] M. P. Brodmann and R. Y. Sharp, *Local cohomology: an algebraic introduction with geometric applications*, 2nd ed., Cambridge Studies in Advanced Mathematics, Cambridge University Press, Cambridge, 2013.
- [5] F. Campanini and A. Facchini, *Exactness of cochain complexes via additive functors*, Commun. Korean Math. Soc. **35** (2020), no. 4, 1075–1085.
- [6] B. Davvaz and Y. A. Parnian-Garamaleky, *A note on exact sequences*, Bull. Malaysian Math. Soc. **22** (1999), 53–56.
- [7] A. Grothendieck, *Local cohomology*, Lecture Notes in Mathematics, Vol. 41, Springer-Verlag, Berlin, 1967.
- [8] K. S. Harinath, *Semi-split sequences I*, Proc. Indian Acad. Sci. Sect. A **75** (1972), 13–18.
- [9] J. J. Rotman, *An introduction to homological algebra*, 2nd ed., Springer Science, New York, 2009.